Light-@-Rama

SHSQUATCH
MEGR TREE

AssSEMBLY
INSTRUCTIONS



Sasquatch MegaTree Assembly Instructions

i

Tools Need

3/4"

@ 17mm
OF ®

1/2" 3/16" Allen ke
o 0 | y
7/16"
o) 0

SASQUATCH
U.S. Patent Pending



Sasquatch Base Assembly

Sasquatch Modular Pole x 4

5’ 6"

@ 3/4" @

IR ~-

\
1/2-13x11/4

Insert each pole into the base with the
holes facing to the side

4 threaded holes
in base.

SASQUATCH
}fEsA REE



Sasquatch Modular Main Pole Assembly

Sasquatch Modular
Pole x 4

Mount the winch to
the top of the first pole.

AL
oocofooo] 'ooo
—

2
ooolooo] ‘ooo
—

coolooo] 'ooo
—

Modular Pole
Inner Coupler x 3

f

© 0 0 0 0o o

Wy

6 threaded 5/16"-18 holes

Tapered holes
on both sides

-------

~

‘ooo

P v
3/16 ‘\ @:m """""""""""" ® @7_6
Allen key*s_ R
\~ ’l
______________ ~ le
_______ ~o e
~-=... _______ _J-—
Safety
e zzemm T - stop
.- SN
‘4" I’ - .“\ bOIt
- ’ ~
- ’z ~
; o to | bo-Joc
/ 1/2" (e ® m:ﬁ\\
A e | [T
. \
H Bolt with washer x3 @Rl '
]
I A G '
! 'r‘,'r‘,‘r‘,'f"w’fl“";r,r,'w?w T \
1
: 5/16"-18 X 1" o :
1
! X Winch line should ) K
1 feed the out top I
[} M (0] I
' N
AN -0 ad)
Bolt with s\ /!
b | @ | fea
washerx3 &% ‘ S
] s{ ! o mZ'o
5/16"-18 \\ =
4
’
o’
\~~~ 'J"l




Sasquatch Toppers

32 Hole Sasquatch Topper

4 small holes
allow for guy wire

on 2"x2"square pole. anchoring. (optional)

Center sleeve slides



Sasquatch Topper Assembly

O]

Threaded holes x 7

e \

—  °
4" Center
1L

Winch eyelet x 1 3/16" Allen key

M10 bolt \ @: o

. Star topper mount x 1
\ 5/16"-18 bolt

' i
! il
N

A 7 N
M10 nut x 1 \ \;

-

Carabi 17mm 5/16"-18 nut x 1
arabiners - Ut X
X32/X48/X64 @ @ 1/2”

Attach 1 per hole ) ), @




Feed winch line
through recangular

hole in the

topper.

©
O
0

V)
3

U

Eae:

—————

Slide Pulley cap over top of pole
and feed winch line over the top.

Feed winch line
through rectangular
hole in the topper.

Rotate up when assembled




P g

1
l, 1
Vi 1
/] ]
/] ]
‘ r I
U4 1
4

/e

4 o
/’ !
/, 1
U4 1
4 ]
/ 1
! I
|' [
| l
|‘ I
Attach the winch clip ol
to the winch eyelet on '& o)l
the topper. =) ol
° ]
1
1

*Shown without /
star topper or

o

o
carabiners %
to S|mp!|fy o
illustration.

OOOIOOO

gr 1/4" @: 34 ®)

s r

?
-
1/2-13x11/4




Sasquatch Hoop Assembly

3/16" Allen key

2 bolts per piece
'I '4"~‘
¢’,, 1 |\
‘4’ \ l\\
’,‘ﬁ \“~-—’I \‘
I" “\ \
I' “
' \
x 12 bolts "-
i
1
1
1
14

Round Tube Option

COIATE Square Tube Option
§/E6AIRE!
¢ o |



Hoop Mounting Option A
Stand Alone Base Hoop Mount Set s sursam

Disconnect 1 hoop seam to allow the hoop to wrap around
the center pole and place on top of the base feet.

On each of the four base feet, attach a base hoop mount.

------
~~~~~

Attach the hoop to the base hoop mount. _.-- el

A~

AN
‘, (@j \Flange Locknuts 3
WS snes X

|
\ p— /

N="

Square-Neck Flange Locknuts

~~~. ------------ “ "" \ Elevator Bolts - 8
lu\\\mum\\\\m\\\m\\m\m\m\m\ e X
R4 1/4-20 x 1 3/4"
x8

-







